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COMMISSION BASED QUESTION (F#H12reT 9T 3T T257)

SALES(T@hT)= Commission(F#T2reT) + Deposit (HHTAT HY AV STAT A )

A Fix salary upto an Amount+ Extra %

% fix of total Sales % fix of total sale+ Extra %Bonus Bonus for sale more than that Amount
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A salesman is allowed 12% Commission on

a0 O the total sales made by him. If the total
13 = 38 % earning of a salesman imind the
1 = 280 £s total sales?
. oo0 B TS fAshdr &1 3% aTﬂTr $1 TS FA fh W
Aol = 22 12% FHtereT # Far
HHATS 3840 % |mmﬁﬁrmw)
a)32000
b)25000

0 .I : 00 ”» ¢)34000

d)36000
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A salesman is allowed 8% Commission on the

00 |- .
total sales madeby _him Af the salesman
D
/ \ deposited Rs. (36800 in the company after
93| = %688D deducting his earning from the total sales

&Il e 46O made by him. Find the total sales?

|I*]- = U fadhar #Y 38 SaRT T 7S Fel fashT I 8%

o = 4—0001’38 mama?ramﬁﬁlﬂﬁ@wﬁamﬁﬁr#
HIA FATS geTHT A 5. 36800 FHIAT & STAT
FY &T 5| &Y Fer Tarshr T gar Feme?

a)32000

01:00 “/»‘b’):z’“

d)27600



An agent gets 5% commission on all sales up
to Rs.10000 and(4% commission on all sales
xceeding this amount. He gives Rs.28700
from his sales to his company after deducting
his commission. Find his total sales.
T TSE (@ 10000 3. B R AH-5%)
FHAA AT g3 A%
A1l fAIAr g1 Il el fsht T FHAT

FIE HT FYAT Sl 28700 T. T &1 aF AT
R foh 38 el TehcTall forshr

) a)30000
b)40000
c)35140
d)32800
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A company allows 5% Commission to his
salesman up to sales of 10000 and company
allow only 4% commission and total sales
above 10000. If salesman returns 31100 after
deducting is income. Find total money?

Uch hUall 319a Tdshdl & 10000 T fashr
dh 5 % HARNT $HI AT Sl § R FHoel
hdd 4 % HHIRAA 10000@W£r6h—<~r
T 9X &t &1 3R f&Oshdr 379elr 3T o
Feldl & 916 31100 HuaAT Y olerdar g
T el O foRcter g1am? a) 37500

b)34450

01:00 c)45500

»d) 32500
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| ? 7 A salesman is aIIowe@ommission on
%:‘ —  the total sales made by him and a bonus of
@ j 3% on the sales over 11000 .If the total
/ earning of a salesman is Rs 7320. Find the
total sales?

J
D30 s ww T F 3F @R A T FA A W
14% FAT TAT F 11000 F FUX A1 Y 9T
13- ;:F%O?OMBO 3% @1 AW it &t ¢ | IRk dewdT i Fa

FATS T 7320 §| Y Fel faIshY FT gT eame?

l | = 4$O a)54000
y b)40000
01 00 » ¢€)45000

d)42000




|5 =
|- =
|- =
) oD =

& 960 + Q40

FQoo
4 80

4@ ovP

earning of a salesman is Rs 6960. Find the

total sal
Umﬂﬁﬁwmw
@ 5 HEIRMT JAT T 12000 & F4X T foshr

% T ST T S

g | Iic TeaH H

Fl HATS & 6960 8| A eI fshr F1 g

?

01:00

a)69000
»  b)4a8000
c)45000
d)52000
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2 P
SOD q ' L A company allowed 10% commission on the total
| A
(/V' N sales made by salesman and a bonus of 4% on the
||t sales over 12000. If the salesman deposited Rs

—

\j/ 60680 in the company after deductmg his earning
M from the total sales made-h : ales?

agibasy @ﬁﬁﬁw
TeT TUT T 12000 @ FI Y 4°
86| = 60680 —48° aeTg o & § | A FodAa Fe foshr €

1. — D FHATS TR AY F.60680 FHUAT & STHT Y &l %*|
861 60?% FITWWEFFCI?ITW’?
V- = F » a)70000
|| = F OO

b)68800

01:00 i

d)77400
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A company allowed 14% commission on the total
sales made by salesman and a bonus of 3% on the
sales over 14000. If the salesman deposited Rs
58520 in the company after-de NE

from the total sales me

Ueh TdshdT Sl 38/ GaRT I 315 ol Toshl T8 14%
HART TUT T 14000 T FI T f9hl T 3% T
dlery o &t § | TS AoHHAT ool fashl & 319ait
FATS geTa AV £.58520 HUT & STHAT &Y T g

ar el TIshT AT Il STaTT?
ym@o
b)72800

01:00 e

d)77000
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A company allowed 15% commission on the total sales
to his salesman but if the salesman is appointed on a

H ' C’U | fixed salary of Rs 5400 and 8% commission on the sales
more than Rs14000. If in the second condition
salesman received Rs 780 more than 1st condition. Find

the total sales?

Teh F9aT 9l AoT@HA hl 39T Th W 15%
AT Sl § W?Jﬁa?qc‘rﬁmﬁrﬂwﬂd co)
5400 &. dclaT T 14000 &. & 3ifereh &7 fSshr 0% 8%
HA Sl & A Vouda g@d & Uger @ 780 .
RIIBES qldl%la’faﬁr%ﬁqﬂ I ol3Ma? 2)56000

No

b)60000

01:00  ¢)50000

d)48000
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Crion
wh..a syt
o

A salesman s given job on the condition that he will
? recewrmlsswn of his sale. Afterwards this condition
_ ; —13s was changed-and made that he will get Rs1200 per month as
Hh O (/\\ salary a ommission on a sale beyond Rs5000 .If on
@f/% I ) the second—eondition he received Rs1350 less per month
E.O/o‘/ then what is the sale made by him per month?
il Ueh HodHs I 3H 2 G sl &1 a1T I 3qh GaRT hr =T
Tos0 R R 3 6% e R | 91 3 3 20l weel W Ag
s g 39 WidATe 1200 & JcsT AT ST o
TTaAE 5000% & 378 fIh 9 3% HERT- e
13§50 qafr%ﬁa:aw&ﬁr%ﬁﬁr 1350% ehe ffeT
fﬁf_/(} Qﬁmmm@rmﬁ FATR ™ 5> 2130000
@ &’RYI® b)60000

= Tgoovb 01:00 190000

o' = d)70000
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